Question Paper Title : Clerk typist

Date of Exam : 27-04-2018 12:30 PM
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Answer: B.ARaT=

2 1 100 3ip AT ST YU d HISIAT bt AT 4 N SbTal Hioidl?

A person counts from 1 to 100. How many times does he come across the digit '4'?

A10
A10

B.19
B.19

C.20
C.20

D.21
D.21

Answer: C.20
C.20



Answer:

oo S 3G URIG gid

Mulk Raj Anand was a famous

A fere=ie

A.Director

B. XA
B.Scientist

C.oRa®
C.Writer

D.Tddh
D.Singer

C.O9EH
C.Writer

9.99+8.888+7.7777+6.66666 =

What is the value of 9.99+8.888+7.7777+6.666667

A.32.32236

A.32.32236

B.33.32236

B.33.32236

C.33.33333

C.33.33333

D.34.33333

D.34.33333



¢ Answer: B.33.32236

B.33.32236

5 30T RT0T TR 3Med

Aruna Irani is a famous

A ST

A.Actress

B. 3=

B.Actress

SACEL:
C.Artist

D ATTRIGhT
D.Singer

Answer: AT

A.Actress

o

6 gTd faciean s favgy sty wreg fiaien yafarg fasr:

A ST
B.3fTcl
C.3iffgd
D.3{Teh a1

Answer: D. AT



Answer:

Answer:

GURY 2:00 p.m. TTSTAT HIZAT 9811 1:00 p.m. TSI 3178 31 GRAdd. U drrd At
g831es 60 e Uasit 75 e ge ST, @) & fea=i Gt 8:00 p.m. TSTal, ATl

TSgTesTd fdocht arofal 3RTca?

At 2:00 p.m., my watch shows time as 1:00 p.m. Every hour, my watch moves ahead

by 75

minutes instead of 60 minutes. On the same day, what time will my watch show when the

actual time is 8:00 p.m. ?

A.8:00
A.8:00

B.8:30
B.8:30

C.8:45
C.8:45

D.9:00
D.9:00

B.8:30
B.8:30

Choose the word or phrase which best completes the sentence. Shyam has returned

A.a vehicle back to its original owner.
B.to its original owner the vehicle.
C.the vehicle to it’s original owner.

D.the vehicle to its original owner.

D.the vehicle to its original owner.

T 81T XMeare fofT 3fiear.



B.gfexfl

C.AYg fofht

D T} HTEHd ATGT
Answer: C. YT feft
10 forw i Ui 3Med

Kim Jong-un is a famous

A fee=ie

A.Director

B. XA
B.Scientist

C ISR

C.Politician
D. D
D.Singer

Answer: C.QIG@RUH

C.Politician

11 dddHgHS URis B

Talat Mahamood was a famous

ATHRUf

A.Politician

B.UDTg

B.Sportsman

C.Phcl[hR
C.Artist



D.ITg®
D.Singer

Answer: BRIIPEA
D.Singer

12 TP M1 U9 IRY SIqUaTITe! 27 T8 Uiex O+ dRY dde Uad dadl. did HI81 - aRY
e T JTadl @R oo 27 O a4 fhHM aF a9 e 1 sryard fovdt o aRy
fHosdia 2

27 small white cubes are put together to make a large cube? The large cube is painted
blue. How many of the 27 original cubes have atleast two of their sides painted blue?

A.6
A6

B.12
B.12

C.18
C.18

D.20
D.20

Answer: D.20
D.20

13 Choose the word or phrase which best completes the sentence. You are going to meet him,

A.are you not?
B.are you?
C.did you?

D.are not?



¢ Answer:

14

Answer:

15

Answer:

A.are you not?

WA HEed T al oI H Faid TUH FTT?

Which of the following personalities was born earliest?

A.TgTes fRig

A. Mahadiji Shinde

B.STeaToN fa%Ty
B.Balaji Vishwanath

C.YHIETS U=G

C.Ramabai Peshwa

D TS

D.Yesubai

D.3gwT

D.Yesubai

WHETA UG 8

ShyamBenegal was a famous

Afeexi®

A.Director

B.WoIg

B.Sportsman

C. 3T
C.Actor

DI
D.Singer

A feesie

A.Director



16 Fill in the blanks with the right articles. Mount Everest is the highest mountain in
Himalayas.

A. The, the
B. The, an
C.A a

D. A, an

Answer: A. The, the

17 Make a meaningful word from AAABNN using all the letters without repeating any letter.
Thisis a

A flower
B.country
C.colour

D fruit

Answer: D.fruit

18 TTe feded T g e Yeaal SRIad uard Fasr.

A.3{TdRuc
B. fue
C. dique

D. g&Uc



¢ Answer: A.3{dUc

19 feae e faegrdf 2ee fAaeT:
SUDBR

A dlcall
B.3{UDR

C.RIUBR
DS

Answer: B.3UPR

20 fecieaT ot gaid arg watg fAag usrdia woft guf &1 : gF Sies et

ACH S S6R]
B.Hc Ig! ¥R
C.HC gl iR}
D1y T8 TR W1

Answer:  B.Hgc ATgl GURI

21 TYTRATCH T ced TiTg UHTdid R ST HRUGN Haid A Meg (Hael

ICEINE] mewwﬁwmﬁwaﬁmuﬁm@aﬁmé
ddaor {-IH\)j\-llobd

A WBTUCYIRT

B.ITTHI

C3lg



Answer:

22

Answer:

23

Answer:

D.Terd

A BWTUCYIRT

Choose the pair of words from the options which are RELATED to each other in the same
way as those in capitalised pair of words below.
COMEDY : LAUGH

A.Tragedy : Cry
B.Drama : Act
C.Song : Dance

D.Love : Hate

A.Tragedy : Cry

TH I3Y Jd $S dis By ST 3R, eR df guf A1 gesdl. FaR at IoredT STol@l aesal. URd <l
IoTAT STS[ET dadl. AaR df guf A1 gesdl. Qact df STeaT ST aasdl. STdl &g dis HIuTd]
fa=Ie sig?

A man is facing East. He then does an about turn. He then turns right. He then turns right
again. He then does an about turn. Finally he turns left. Which direction is he now facing?

A3
A.North

B.gf&m
B.South

cgd

C.East

D.TfgH
D.West

B.gf&m
B.South



24 P 8T Q U&T 39 3. Q BT R U&T T8 3fTg. S 10T T df It URWE! 3{Te. T &1 Q 3T R &A1
SIYTUT 39 318, 9T Jaid g HIul 37g?

P is taller than Q. Q is shorter than R. S is equal in height to T. T is taller than both Q and R.
Who is the shortest?

AQ
AQ

B.R
B.R

C.DIMUIT
CSandT

D.QfHairR
D.QorR

Answer: A.Q
A.Q

25 Tl feciedt yatarga ueTdid WegrTat SHdbaan! Weg FasT : 341

ABA
B.3=
C.&3

D.9A

Answer: B.<5ATl

26 faaen Y favgrdf Tree fRaeT:

fam



AFHA
B. AT
C.HH

D.Gfd

Answer: A.DPHIT

27 WIAeTdah! HIurar Ju ARy IsaTdd b aTa! Td Iy SRIfGuIRT o7 ATgh?

Which of the following is NOT a festival that signifies new year for people of a particular
state?

A3t
A.Ugadi

B.fagy

B.Vishu (Bisu)

C.731 uredr
C.Gudi Padwa

D Ui
D.Pongal

Answer: D.GINTd
D.Pongal

28 GTelt e g arY Rsgarad 3Rcen yaig fAdeT

A HIFTRT

SREERGIN
C. forrart
D. HiFTdaRY



¢ Answer: B. fmdart

29 Choose the option which is closest in meaning to the word: Pale

A.Tight
B.Bright
C.Light

D.Might

Answer: C.Light

30 FUSRT IR} e fresies Hior o 2

Who has directed Marathi movie ‘Pinjara’

ASSSR Ucd
A.Jabbar Patel

ERAMRIRERACES
B.Dadasaheb Phalke

C.%®!. YaR™
C.V. Shantaram

D T Xl HioRaR
D.Mahesh Manjrekar

Answer: C.%!. YidRM™
C.V. Shantaram

31 &, . U T IR BId

V. K. Krishna Menon was a famous



A feesie

A.Director

B. XA
B.Scientist

C ISHRUf

C.Politician

D%
D.Singer

Answer: C I Ruft

C.Politician

32 3T B i S+ 10T TR SATAT?

In which town or city was Anna Hazare born ?

A SERTEN
A.Aurangabad

B.3gHGTR
B.Ahamad Nagar

c.Hu%

C.Nashik

D A%
D.Pune

Answer: B.3gHGIR
B.Ahamad Nagar
33 Choose the option which is farthest in meaning to the word: stunt

A.Promote

B.Scare



Answer:

34

Answer:

35

C.Small

D.Reproduce

A.Promote

TYRATCH T oo TaiTg WHTdid R ST HRUGN Haid 9 Teg (Hael
Ui Hg Ml aTd 8T el § dosdTd war el Ul o fqear , T Fart
o =My g T,

HTUHHT 7T BT 3Tg?

What is the name of the radio programme hosted by Prime Minister Narendra Modi to freely
address the people of the nation?

A e Sare
A.Seedha Jawaab

B.A9 &I &1d
B.Mann ki Baat

CIR @R
C.Mere Vichaar

DA &l ara
D.Dil Ki Baat



¢ Answer:

36

Answer:

37

B.H &1 91
B.Mann ki Baat

The sentence is broken up into four parts sequentially. Choose the part that has an error.

A. The innocent girl
B.had no option
C.but in leaving

D.the village

C.but in leaving

T i g gurd (X 3T Y) IR faurTe ied. fEmidt g Sfaiay, &, areff, Sfah, 334,
ﬁ;{w‘ﬁ‘c{r 3= TR . § a1 o U A W 38 30T GiF Aid THRT THR a9
Q) TTCH T (X) T e 3RIT Sicied AR R S S T8,

R) ST RIGT=AT SISl 3G

3) SU HIUTATG! AT Yact gl

¥) STcl BRIl STl a1l G-l shHidbIaR Sl 3.

w) STl faordt Tard et

T BRI fa%d STl HIvT SR 311g?

Six friends are divided in 2 equal teams (X and Y). The friends are Alex, Bunty, Charlie,
Dolly, Ethel, and Farida. They compete with each other and are sitting in two rows, facing
each other. We also know that

 Charlie, a member of team X, is sitting diagonally opposite to Dolly.

* Bunty is the neighbour of Farida.

« Ethel is not at the end of any rows.

* Dolly is second to the left of Farida

* Dolly is not a part of the winning team.

Who is sitting opposite to Farida?

NG|
A.Bunti

B.3Ud
B.Ethel



Answer:

38

Answer:

39

oI
C.Charlie

D Sial
D.Dolly

oI
C.Charlie

Choose the word or phrase which best completes the sentence. Some scholars stressed
the study of grammar, rhetoric, ...... and poetry.

A.historically
B.learning about history
C.history

D.studying history

C.history

Choose the most logical order of sentences from among the four given choices to construct
a paragraph.

A] Iceland is just such a place.

B] Molten rock spills out from huge cracks that run right across the island.

C] Almost every year there is volcanic activity of some kind.

D] If the lava that erupts from the ground is basalt, black and heavy, then the area may
have been continuously active for many centuries.

A.CABD

B.DACB

C.BDAC



D.BDCA

Answer: B.DACB

40 Choose the word or phrase which best completes the sentence. Lalitha ...... that she could
not attend classes the next week.

A.told to her professors
B.said her professors
C.said to her professors

D.told her professor

Answer: D.told her professor

41 Choose the option which is closest in meaning to the word: Repulsive

A.Disgusting
B.Sacred
C.Turn-around

D.Advance

Answer: A.Disgusting

42 Fill in the blank with the right option that follows accepted syntactical constructions. No
sooner had the thief entered the compound and everybody began to scream.

A.than the dog started barking



Answer:

43

Answer:

44

Answer:

B.when the dog started barking
C.and the dog started barking

D.the dog started barking

A.than the dog started barking

T e g 9o id Rea e Sadr ua Hagl.

ATTaRt
B.3{TS
OXSPEAN
D.3fTfg

D.3[T(¢

W e IR B

James Watson was a famous

A faesie

A.Director

B. R
B.Scientist

C BRIt

C.Politician

D. g
D.Singer

B. R
B.Scientist



¢ 45

Answer:

46

Answer:

47

Tt feeiedT TaraTd UHTdid eaMT3] SHdbadH Xeg (IS XTdiaT

IGIE]
ERIGIE]
C TdrsaT

D.31di

IGIE]

Choose the option which is closest in meaning to the word: Renowned

A.Second-hand
B.Jealous
C.Famous

D.Original

C.Famous

L, M, N 3101 O fg Jedop et RM71d Sacieit 3HTed. L Y HIY=Td -el. M G I 3118, N
Qe L EIeh =T STl dad ATel. $ad e N =T dToell dad 3HTg?

L, M, N and O are 4 books placed in a line. L is not at the corner. M is in the middle. N is not
placed adjacent to L. Which book is placed next to N?

A.M 30T O
A.Mand O

B.Thadd O
B.only O

C.lhdd M
C.only M



D.L 3T o
D.Land O

Answer: C.Thdd M
C.only M

48 el e Ui ot Rsaaar el gaid fasT.

Answer: D.USTﬂ-ﬂ@E

49 AT YR IRIST fezge e g7 S 17 3iig 2

In ‘Lai Bhaari’ Mararthi movie, who played the leading female actor role?

A.3YT daT0f
A.Usha Chavan

B._TfIT 3Tac
B.Radhika Apte

c.AgI sy
C.Neha Pendse

D.Ucd! SR
D.Pallavi Joshi

Answer: B.fYrepT 3ue
B.Radhika Apte



¢ 50 gyraTel! feaiedT TaiaTdy Ui R ST 4RUa aid g Xeq Hasl
Ay aNd fRIYS T TRPR foriel gwon < S w6t gTAdll AT GUNET BTSS!
§¢ s,

A

B.gSal
C.gieres]

D.YSTH

Answer: D.YsSTd

51 Tegygre” RIS} fREuer feigxie S R?

Who directed the Mararthi movie “Natasamrat”

A ToIT S1Yd
A.Sanjay Jadhav

B. ARG Ho&

B.Nagraj Manjule

C.U MipTeft
C.Paresh Mokashi

D TRl HioRaR
D.Mahesh Manjrekar

Answer: D . He Xl HioRaR
D.Mahesh Manjrekar

52 1T1+1 11T+ 1111+ 1111 + 111111 =

What is the value of 1.1 + 1.11 + 1.111 + 1.1111 + 1. 111117



A.1.23456

A.1.23456

B.5.54321

B.5.54321

C.5.12345

C.5.12345

D.5.55555

D.5.55555

Answer: B.5.54321

B.5.54321

53 Je e AT guf B,
A’ 17 C, 3’ E’ 5! Fa_

What comes next in the series: A, 1,C, 3,E, 5, F,

A.6
A6

B.7
B.7

C.G
C.G

D.H
D.H



¢ Answer: B.7
B.7

54 gSgTesTal fAfFe ®Tel 12 3fidisdl dagl & ded] eldl gial. d fifHe &1er 6 @1 sfidisd) dal
Udhal Tl gldl. R &rd faasit, 10:05 AM d 03:05 PM =01 Gx&IH fabll U0l et Bleital?

The bell of a clock rings twice when the minute hand crosses 12 and once when the minute
hand crosses 6. How many times does the bell ring in a day between 10:05 a.m. and 3:05
p.m.?

A2
A2

B.14
B.14

C.15
C.15

D.16
D.16

Answer: C.15
C.15

55 e ared Ul 3fTed

Akhilesh Yadav is a famous

A TSTHIRUT

A.Politician

B. WG

B.Sportsman

SACELAL
C.Artist

D.Tddh
D.Singer



L

Answer: A.QIGWRU“
A.Politician

56 The sentence is broken up into four parts sequentially. Choose the part that has an error.

A. The candidate
B.talked as if
C.he has already

D.elected

Answer: C.he has already

o

57 TTd feaiedT Usa favgy iy Wsg fadean gaiargT HasT:
A S

AUl
B.UR®C
ca™

D.3{Ueh

Answer: ATlad

58 Rearrange the words to make a meaningful sentence.
A) the B) boat C) men D) sat E) in F) ten

A.ADBEFC
B.DECBAF

C.FCDEAB



D.EABCDF

Answer: C.FCDEAB
59
YT 1 XeaTd Yfeatit =0 3T,
AHENST
B. 9dIc
C.HONd
D . HERISITERTS
Answer: B. gdIc
60 G ININESINE R IR

Aa Bs E’ Cs |1 D’ O, Fa_

What comes next in the series: A,B,E,C,,D,O,F,

AU
AU

B.G
B.G

c.J
CJ

D.K
D.K

Answer: A.U
A.U



‘61

Answer:

62

Answer:

63

WU B e WX saes JuRIx “ufertser qufl 3mg?

Near which town or city will you find the famous Elephanta Caves ?

AU
A.Raipur

B.4ss

B.Mumbai

C.3MRIqd!

C.Amravati

D. 3R

D.Amritsar

B.4ss

B.Mumbai

The sentence is broken up into four parts sequentially. Choose the part that has an error.

A. The cattle have
B.died
C.because the

D.intense heat

C.because the

arferebdtd géld g 3feR =T A, B, E, D, I, G, O, J, _, _

Find the next two terms of the series: A,B,E, D, |,G, O, J, ,



BS, T
B.S, T

C.U M
C.U M

D.V,L
D.V,L

Answer: AU, L

64 T ST ulRg . 8

Charles Darwin was a famous

Afeexi®

A.Director

B. R
B.Scientist

C ISHRUM

C.Politician
DRI
D.Singer

Answer: B. R
B.Scientist

65 HRT TR URig 3fTed

Mira Nair is a famous

A feesie

A.Director

B. 313

B.Actress



C.aRaeT
C.Writer

D%
D.Singer

Answer: A feteele

A.Director

66 Rearrange the words to make a meaningful sentence.
A) fear B) help C) over D) science E) get F) can G) us

A.CFDBEGA
B.DFBAECG
C.DFBGECA

D.ECABDFG

Answer: C.DFBGECA

67 =0l quf 71 pRISar aier Mae

A BT
B.d%
c.HH

D.dls

Answer: A.DhId

68 Choose the option which is closest in meaning to the word: Riddle



Answer:

69

Answer:

70

A.Puzzle
B.Difficult
C.Tight

D.Again

A.Puzzle

SR A X T&T
TR 318, ‘Y’ 81 B’ el
RIS 3MTe 30T ‘B’ *X’ Udel A 3iTe, TR HIvd g™ T 3H1g?

If A is poorer than X, Y is poorer than B and B is as rich as X then which of the following
statements is necessarily true ?

ALY A T&T STHd 31Ts.
A.Y is richer than A

B.'A’ ‘Y’ U&TT #iHd 31Te.

B.AisricherthanY

C.A ‘Y’ Jael 4iHd 3MTg.

C.AisasrichasY

D.3{TYUT ‘A’ SIfOT Y’ <7 HTU&T HUt o S{JH B Yhd gl

D.We cannot make any inference on the relative wealth of A and Y.

D.3{TYUT ‘A’ 30T Y’ =7 ATU&T Ot d STHH B Qhd ol

D.We cannot make any inference on the relative wealth of A and Y.

‘%j‘B’%[a@ﬂﬁx’:ﬂ%.GiTﬁ[’C’BT‘D’EITHEITIT&T%.W’B’BT’C’HTHTGS&T%,H?‘D’BT’A’HT
?

A is the father of B. C is the son of D. If B is the brother of C, then D is A's

A TR

A.son



B!

B.daughter

C.5ag

C.son-in-law

D. Tl

D.wife

Answer: D.tIT?ﬁ
D.wife

71 WA FET BRI IRIG TR Mo 38?2

In which town or city will you find the famous Hanging Gardens?

ATAR
A.Satara

C.Mumbai

D. 3G

D.Aurangabad

Answer: c.Hss

C.Mumbai

72 Choose the word or phrase which best completes the sentence. Everybody ....... a ticket
should stand in line.

A.who have not purchased
B.who has not bring

C.who has not purchased



Answer:

73

Answer:

74

Answer:

75

D.who has not

C.who has not purchased

ATt feeiedT garaTg Aid RIsqera- SRiciel gaig fasT ;

A. 3fTaTafdet
B. 3THTHTAD!
C. STHTITd P
D. S{TcHYTdD!

D. 3HdTdd!

The sentence is broken up into four parts sequentially. Choose the part that has an error.

A. This report
B.is the best
C.of

D.the pair

B.is the best

T I3Y Jd $S dls & JHT 3118, R <l Juf AT g&dl. FaR < IoTedT SIS 9esdl. URd dl

IoTAT SIS J5dl. TR Al STeAT STola aasdl. -iax i gui AN aadl. ]iae! dl ST STefa
T, AT AT TS DIOTAT =1l 3Te?

A man is facing East. He then does an about turn. He then turns right. He then turns right

again. He then turn left. He then does an about turn. Finally he turns left. Which direction is
he now facing?



A3

A.North
B.af&ru
B.South
cgd
C.East
D.ufg |
D.West
Answer: C.qﬁ
C.East
76 1-MM+1{1-1+1}+1]+1=__
1-MM+1{1-1+1}+1]+1=__
A1
A1
B.3
B.3
C.-3
C.-3
D.-1
D.-1
Answer: D.-1
D.-1
77 Choose the option which is farthest in meaning to the word: grip
A.Release

B.Hold



C.Show

D.Allow
Answer: A.Release
78 GURY 3:00 p.m. dTSTAT AT USATBT 1:00 p.m. dTSTd 3178 3 GRIdd. U qrTd Hrel
g391es 60 e Uasit 75 fAife ge . a) & fea=i Gereiadt 8:00 p.m. dTSTal, ATl
TSIIId fohall arelal Sradia?

At 3:00 p.m., my watch shows time as 1:00 p.m. Every hour, my watch moves ahead by 75
minutes instead of 60 minutes. On the same day, what time will my watch show when the
actual time is 8:00 p.m. ?

A.7:15
A.7:15

B.7:30
B.7:30

C.7:45
C.7:45

D.8:00
D.8:00

Answer: A.7:15
A.7:15

79 0. I uRig BId

P A Sangma was a famous

A TSTHRUf

A.Politician

B.UBTg

B.Sportsman



OACELIN
C.Artist

D%
D.Singer

Answer: A ISTHRUT

A.Politician

80 Tt feeiedT Taiarg UsTdid sarra! SHdmadH! Wsg del : daar

A TAIRT
B.dcaraf

C.dddR
D . dddR

Answer: INGSEIR

81 h A I uRg B

Homi Bhabha was a famous

A feesie

A.Director

ERIIEE
B.Scientist

C ISHRU

C.Politician

D%
D.Singer

Answer: B. QAT
B.Scientist



82 qTelt feaed g arY Rsgarad 3Rcen yaig fAdeT

A. fzonead
B. faulfert
C. fovmoned
D. RN

Answer: A. feonet

83 Fill in the blank with the right option that follows accepted syntactical constructions. At the
eighth floor of the building is my office

A.to the right of the neon light
B.where the neon light is to the right of it
C.right of the neon light

D.to the neon light’s right

Answer: A.to the right of the neon light

84 arferdbaiel Yéle 3&R qMuT: ABAABCEABCDIABCDE

Find the next letter in the series: ABAABCEABCDIABCDE_

AF
AF

B.A
B.A

C.u
C.u



Answer:

85

Answer:

86

Answer:

D.O
D.O

D.O
D.O

Fill in the blank with the right article. On our trip to Mauritius, we crossed

Sea.

A.the

B.an

C.a

D.none of the above

A.the

el Aferes uRre 3fed

Sakshi Malik is a famous

A fee=ie

A.Director

B. TG

B.Sportswoman

C ISR

C.Politician

REIREE]]

D.Actress

B. TG

B.Sportswoman

Arabian



¢ 87 JTel e AT guf B,
A E1,0,U,0O, I,

What comes next in the series: A, E, |, O, U, O, I,

AE
AE

B.A
B.A

C.
C.

D.U
D.U

Answer: A.E
A.E

88 TS HIol 99 IRy §dUaT3] 64 AEH Uiex - IRy s Udhd $ad. Hisdl 8- dRYTT 4

S5 e W WTaa S0 O IR avid g WIeld aTo] ard W Sael. 77 4 64 949
EN . . . .
IR Tad UTeRT T TTad fardt o IRy fiesdia 2

64 small white cubes are put together to make a large cube? The large cube's 4 sides are
painted blue and the top and the bottom are painted red. How many of the 64 original cubes
have only white colour on them?

A.0
A.0

B.2
B.2

C4
C.4

D.8
D.8

Answer: D.8
D.8



89 fobbcug TSR e+l i S 10T JERId ATl?

In which town or city was MS Dhoni born?

A STHRIGYR

A.Jamshedpur

B.Yddlq
B.Dhanbad

C.agRIgA

C.Dehradun

D 37=ht
D.Ranchi

Answer: D.Ti?ﬂ
D.Ranchi

90 Hiad U Ul 3fled

Kavita Krishnamurthy is a famous

ARTSHRUf

A.Politician

IEEEl

B.Actress

SACELAL
C.Artist

D. 1
D.Singer

Answer: D.ITgh
D.Singer



‘91

Answer:

92

Answer:

Fill in the blank with the right option that follows accepted syntactical constructions. Ram
began studying Hindi not only because of its popularity but also

A.to use in correspondence
B.because of its use in correspondence
C.to make use of it in correspondence

D.because correspondence needs it

B.because of its use in correspondence

O o[ 1.52 x 2.3 = 3.496, HT0.152 x 0.023 = ?

If 1.52 x 2.3 = 3.496, then what is the value of 0.152 x 0.0237

A.0.03496

A.0.03496

B.0.3496

B.0.3496

C.0.003496

C.0.003496

D.0.0003496

D.0.0003496

C.0.003496

C.0.003496



93 feciean gatarg Jaid arg yata FagH usiTdia un gul &1 : foreaT gTd! ITe v Gkt

A STl SR
B.<il gaitd 1d 3t
C.dt wet T M
D.<f 3d R TR}

Answer: Al ST SLRT

94 IR 3™ (P.Q,R,S ) lRdeh oM. fecien yafamed SR ufgwwn <F faumn adbf ey faa
faUT 3118, TR ST 9aig SRR 3B
(P) T4 HHHCR §IR 3R
(Q) 9 AT S IR 3R,
(R) T4 IS HHYCR TR
(S) T4 HHECR HIHS 3MTed.

4 statements (P, Q, R and S) are given. Choose the option in which the third statement is a
logical conclusion of the first two statements.

(P) All computers are smart.

(Q) All monkeys are smart.

(R) All monkeys are computers.

(S) All computers are monkeys.

A.PQR
A.PQR

B.PQS
B.PQS

C.QRP
C.QRP

D.RPQ
D.RPQ



‘ Answer: D.RPQ
D.RPQ

95 i did geld s [T 3, 9, 21, 45, 93,

Find the next term in the given series: 3, 9, 21, 45, 93,

A.281
A.281

B.285
B.285

C.282
C.282

D.279
D.279

Answer: C.282
C.282

96 YR HR YU T Sfémoran fofg iorar?

Which is the southernmost point of the Indian mainland?

AT 3 TS g
A.Cape of Good Hope

B.&Y DIHIRA

B.Cape Comorin

C YA

C.Rameshwaram

D.BRIBIRHA

D.Karakorum

Answer: B.5U HIAINT

B.Cape Comorin



97 A&} STge HIFT U&T 4 TiedT SR 3MTed. HIFT SIded Htdl UelT Wo TeT HHt 3ed. SHTfOT =idr
SIS YTSTadT UelT o el ST 3MTed. d) BIUd f[aeT sRIeR Mg ?

Laxmi has 25 marbles more than Meena; Meena has 50 marbles less than Neeta and
Neeta has 20 marbles more than Prajakta. Which of the following statement is true?

A& ds TITSTaT U&HT Qo el SR 3Tad.
A. Laxmi has 10 marble more than Prajakta

B. A& o UTSTadT U&fT Y il HHT 3.

B.Laxmi has 5 marble less than Prajakta

C. TSIl Fs AT U Yo Tiedl AT 378,

C. Prajakta has 40 marbles less than Neeta

D. & P UTSTad U Y Tiedl SIRd 3{Ted.

D.Laxmi has 5 marbles more than Prajakta

Answer: B.@&H! B UTSIadT U&T 4 Tiedl ST 37T

B.Laxmi has 5 marble less than Prajakta

08 feae Teer= faegdf wsg RaeT:
3

AaTct
B.AH

Answer: B.A™

99 U gUf &R TRSIGdTa T



B.OfdHT

C.HIH

Answer: A.3dhd

100 TTe fEded T g e Yeaal SRIad uard Fasr.

A STHAHERUT

Answer: C. W
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